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1.aFg 49 3,822 3,822 0
JRRTA I PN S o 3,822 3,822 0
1. [=]a 5 3Ahe- 392 392 0
1. 255G 292 292 0
PASLIS RS 100 100 0
2. (2148 3 =514 1,630 1,630 0
1. 30590 1,530 1,530 0
2. 4Rkl Fx0] 100 100 0
3. [x1874 A 1,800 1,800 0
1. g RkEgH 1,800 1,800 0
2. BGA e 15,019 15,229 -210
1. 3H A B2 = 6,200 6,200 0
1213 1,200 1,200 0
1. %89 1,200 1,200 0
2. (=] FFH T 5,000 5,000 0
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1. g RkE8H 41,220 41,220 0
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1. G981 10,000 10,000 0
144,406 144,831 -425
47,234 45,615 1,619
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ZHHEUS : 219,0009+1 = 219,000
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27T T 166 166 0
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4. 202 QB2 160 160 0
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3.3y dH 1,700 1,700 0
1.3 -4 91384 700 700 0
L[z]gaddes] e 700 700 0
1 k75200 700 700 0
2.3 Yy 1,000 1,000 0
LIz Ras 1,000 1,000 0
1. duks=gn) 850 850 0

o] % 2025\ 01 319 124] 574 49% 17 AEREAANEWEY Qx5S



3. B A ALY 2] 150 150
7.3k A ! !
1. efu]v] ! !
1.ejuy] 1 !

L L1603 e ) 1 1

1. eju)w) 1 1

olds 20254 01€ 31Y 12A] 57 49%
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gAold Abdoat 2=

B AAE 1 2024

b 0 7739

ooy AR (&9 - )

W83 A [Z]agaad 7549 9,360,000 9,301,300 9,301,390 58,610 0
el A2 = A5 19 000,000 7,720,000

7,720,000 2,280,000 2,280,000

o< 20254 01 31 124] 57% 50%
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